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m= r-\[r°- < 20 > | only vse 30" because that 1s hon long
4 | make my rails for the router jig.

All unite must be the same (ie Inch/mm)
20" Making the radivs = 28 feet (336 inchs)

| m= 336 -\/33@2_<34L2>
m= 336 - \/ 112896 - (qg_0>

m= 336 - \/ 112896 - 225

m= 336 - [ 11267

m= 326 - 335665

NAIL
k| 30 | m= 0.335 in or between 21/64 & 1/32

v ]

* T~ NAIL
éu _f |
7 5 RADIUS NAIL

Bob, | moke the arc the same woy as Bob Burton. Here is my explonation.

Place 2 nails 30" apart as shown. Draw a straight line between them.
Find the center (15") ond draw a Ilneferpendicular to the first down 1" or so.
, " , Measure downn your new "'m" valve ond place the nail halt of its onn diometer
Y 30
[ 2 | | and the thickness of your 9p|IH6 vp from that measured amount.
. — This allows for a more accurate are.Just make sure that the bottom of the
spline Is the measured distance and you cant go wrong. Now place your spine

so It Is wedged nbetween the nalls as shown to the left. Now draw your arc.
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